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Cuadro 6 (continuación 1)/Table 6 (continued 1)
Colombia: tablas abreviadas de mortalidada

 Colombia: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.115 0.106  100 000  10 602  92 565 0.877 b 5 481 582 54.8
1 4 0.013 0.051  89 398  4 517  345 776 0.962 c 5 389 017 60.3
5 5 0.003 0.014  84 881  1 170  421 478 0.989 5 043 240 59.4

10 5 0.002 0.009  83 711   748  416 682 0.989 4 621 762 55.2
15 5 0.003 0.014  82 962  1 164  411 901 0.983 4 205 079 50.7
20 5 0.004 0.021  81 798  1 699  404 742 0.978 3 793 178 46.4
25 5 0.005 0.022  80 099  1 792  396 015 0.977 3 388 436 42.3
30 5 0.005 0.024  78 307  1 914  386 751 0.974 2 992 420 38.2
35 5 0.006 0.028  76 393  2 158  376 570 0.969 2 605 669 34.1
40 5 0.007 0.034  74 235  2 551  364 796 0.960 2 229 100 30.0
45 5 0.009 0.046  71 683  3 301  350 166 0.946 1 864 304 26.0
50 5 0.013 0.063  68 383  4 332  331 084 0.922 1 514 138 22.1
55 5 0.020 0.094  64 051  6 026  305 188 0.886 1 183 054 18.5
60 5 0.029 0.135  58 024  7 830  270 548 0.834  877 866 15.1
65 5 0.045 0.201  50 195  10 112  225 693 0.761  607 319 12.1
70 5 0.067 0.286  40 083  11 469  171 740 0.658  381 626 9.5
75 5 0.107 0.421  28 613  12 052  112 936 0.537  209 886 7.3
80 5 0.149 0.536  16 561  8 880  60 605 0.426  96 950 5.9
85 5 0.204 0.654  7 681  5 024  25 846 0.321  36 345 4.7
90 5 0.265 0.752  2 657  2 000  8 288 0.233  10 498 4.0
95 5 0.330 0.828   658   544  1 928 0.128 d  2 210 3.4

100 ω 0.402 1.000   113   113   282   282 2.5
Mujeres/Females

0 1 0.097 0.091  100 000  9 109  93 591 0.892 b 5 825 926 58.3
1 4 0.012 0.047  90 891  4 282  352 389 0.965 c 5 732 335 63.1
5 5 0.003 0.013  86 609  1 123  430 236 0.989 5 379 946 62.1

10 5 0.002 0.008  85 486   700  425 677 0.990 4 949 709 57.9
15 5 0.003 0.013  84 785  1 066  421 260 0.986 4 524 033 53.4
20 5 0.003 0.016  83 719  1 311  415 316 0.983 4 102 773 49.0
25 5 0.004 0.018  82 408  1 453  408 406 0.981 3 687 457 44.7
30 5 0.004 0.020  80 955  1 640  400 674 0.978 3 279 051 40.5
35 5 0.005 0.024  79 315  1 906  391 809 0.973 2 878 377 36.3
40 5 0.006 0.029  77 409  2 251  381 417 0.968 2 486 569 32.1
45 5 0.007 0.035  75 158  2 660  369 140 0.958 2 105 152 28.0
50 5 0.010 0.050  72 498  3 593  353 510 0.940 1 736 011 23.9
55 5 0.015 0.072  68 905  4 950  332 153 0.911 1 382 502 20.1
60 5 0.023 0.107  63 956  6 843  302 672 0.866 1 050 349 16.4
65 5 0.036 0.165  57 113  9 397  262 071 0.797  747 677 13.1
70 5 0.057 0.249  47 716  11 887  208 861 0.692  485 606 10.2
75 5 0.096 0.385  35 829  13 806  144 627 0.564  276 745 7.7
80 5 0.142 0.518  22 022  11 414  81 577 0.439  132 118 6.0
85 5 0.202 0.650  10 609  6 900  35 793 0.324  50 542 4.8
90 5 0.263 0.749  3 708  2 777  11 600 0.236  14 749 4.0
95 5 0.326 0.824   931   768  2 738 0.131 d  3 149 3.4

100 ω 0.398 1.000   164   164   411   411 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


